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Name:

(34)4 —

(7' =

(10%*=

(66)3 —

(86)1 —

(48)5 —

(95)3 —

(13)*=

(86)4 —

(14%° =

Exponents Rules

Date:

Rewrite each expression using power rule.
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(6*

(11"

(7

(15"

(5

(3%

(37)6 —

(93)1 —

(12")°

(10%?
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Name: Date:

Exponents Rules

Rewrite each expression using power rule.

y (3% = 31 1y (6% = 6>
2 (7)%= 74 12 (11)* = 11%
3 (109 = 10% 13) (79 = 718
5 (69°= 6'° 1) (159! = 15*
55 (8%'= g° 15 (5°)% = 5t
6 (4%° = 4% 1) () = 3*
7 (9°)°= o 17y (30 = 3%
g (13%°= 13° 18) (9%)' = 93
9 (89)*= g 19) (12 = 12%
100 (14%°%= 14° 200 (10%° = 10"
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